10 sur chague pattfe
16041 8 /A x P17 ) /gour mise a niveau
. . 0 o
Vitesse max : 4000 frs/min , A % ﬁ -
Charge radiale max : 15000N a 400trs/min
Charge axiale max : 1800N a 400trs/min
Charge radiale max : 1500N a 4000trs/min
Charge axiale max : 180N a 4000trs/min
Equilibrage aver demi-clavetfe. - 11w 1t " " " (" (" "~ — - T -1 — 1 r—
Partie active : HKW 310-500HBU
Resolveur : (B102
‘ tn 380
Protection : P40 = # #
Peinture : Noir RAL9005 = P o
Masse : 695kgs
Connecteur resolveur 12 pts 840 .3(x) 79340.3(x)
[ =
(©]@0.02 (0) I
6 x M12 (*)\
- l: sur @300(x)
o M20 x 55—
L - 1< '~ 1 I I R | 3 o
2 2 -
[@N] —_
X
I 3
[
(@N]
1141(%) 36040.3(x)
x M12 prof20 410
pour raccordement e 178(x) L72(%)
fresse de masse sur bati
o 1 IO
’)
- | CONNECTEUR C OMMANDE
I
M12x1.5 Prof12 120 , ‘
Avant et Arpiere Sorfie sondes sous gaine :
pour sonde temperature roulement &QTHYQUQUFm:aEIP%?
e ropen ol - 0
(sonde non fournie) :I KTY - bBlanc
= PTC 150°C : jaune
™ g PTC 150°C : jaune
Vue suivant F
. 281
.\ . . .
] ) Sortie puissance fils 50mm?
M6x1 Prof12 \/ @12.3 sur gaine
Avant et Arriere : rayon de courbure mini 140mm
pour capteur vibration engagdéS\'?FvTe‘g pour refroidissement Longueur - 1.2m
(capteur non fourni) G1/2 Lame 32 PE M20
Noir : phase U
Blanc : phase V
Rouge : phase W
Vert/jaune : masse
Plan valable pour MGVBS50H__AB3LR1005
Masse General Dessine| 19/01/12 AH Vise {]-@' M G \/ B 5 O Format | F | E | S | G
tolerances w Echelle A3 X
Ce document, propriete exclusive de -
PARVEX., ne peut etre [ommwmug. copie DIN IS0 g AM23909 - 16/07/2012 PF 8 Avenue du lac. BP30749
ane-Son autarisation ecriter e 2768 MK 18 AN 23780 25,0112 AH 0.120 HO0TT o porken-com CNCOMBREMENT 36475181005

V

V




JAN JAN
X D1 (%)
L x M8 on feet
for atgmem\; RESOLVER CONNECTOR
QQSOL\/QP [BSZ Output voltage S3 Qufput volfage S&
‘ DAO % (c0s-) (sin-)
, Output volfage S2?
D oo __ __ __ _ Output volfage S$1 ,
pa\ﬂT BLS[K QAt 9005 ‘k Il (cos+) (sin+)
%—« d
| Input volfage R2 (-)
12 pi L tact H‘ ‘ Input voltage R1 (+)
PIS FESOLVER COmTat 1 1 Terminal box can _be rotated
‘ ‘ by 90" or 180 according F VIEW
‘ 2740.3(%) 23140 3(%) fothe technical manual
Power input 457
(see defail A) 930e) -]
*
Qutput iffing eye bolfs F
thermal protfection ——
(see defail A) 0'02 .
——————
5041
¥ = Q
g <d
< 7 41— 3 8(o
E Ky S = o
o N X M& (%)
Q) s Xﬁ
°Q 0
<. T o.02lA = on [@100] (»)
o : 0O OO
|
2 x M8 useful length: M
, 12540.3(x)
for grunding Inlet 7 Qutlet for coolant 150
84 .5(x) 98(x) according to the technical manual
Threaded hole G1/4
| \ Terminal box
— ‘ ‘ — Input
I~ ‘ ‘ Power cable
. / ] N | | Threaded hole PGZ29
—" — ) \/

Resolver connector

e . . 9\
’, / Lﬁ
/ b \\ " —\\— r{D - - -0 3 r utput
‘ 2 \( AN o 0 Vi 0 Thermal sensor cable
/ = ’ 1 Threaded hole PG
/ \ L. .. e
( 20 0 ’ \jﬁ ATTENT ION ._
FOR HANDL ING T
\ h lange vibration sensor hole ELECTROSTATIC 3 x M6
M6 useful length: 12mm pevices
\\ ,/ (Front & Rear) “H — % x M&
B
\~ O ,/ T +KTY SEHSOF/O (o)
\~ I / lange femperature sensor hole (Brown) \ /
~ Pl M12 x 1.5 useful length: 12mm H; PTC 150°c Thermal sensor
S~ _— (Front & Rear) 2: -KTY sensor (Black)
(White)
Streew M8 ) °
(») Dimensions checked for acceptance certificate Dotail A for grunding (SB'LEETK[) 150°c Thermal sensor
Drawing valid for : MGV430
: Drawn|02/04 /2012 PF Visa —E:] - Format F E S G \
W@@ﬁﬁ BSKQ General '@ MG\/Q}O
folerances fe | ( [AM24040 - 23/01/2013 PF Stale A3 X
This document is the property of =
PARKER.Transmission 3s well as DIN ISO S AM23964 - 2771/09/2012  PF 8 Avenue du lac. BP30749
ducti is not itted = : , ox—
withou! writien autborisation. 2768 mK 18 Iy Tamz3841 - 11/04/12 0D D [AM24091 - 09,04/2013 PF [E by D e TaaNCE ODUTLINE DRAW ING 34575986000 D

V

V




JAN JAN
L x M8 feet
for at%;mgﬁT‘\\ box P () RESOLVER CONNECTOR
P% L [: E3E522 %tqgf Output voltage S3 PUTD%T volfage S&
esoLver (Cos-) >
N 1 Output voltage S1 quDuT voltage S?
‘ szkﬁ) > (Cos+) (sin+)
Paint . Black RAL 9005 =, oot voltage B2 ()
282 Input voltage R1 (+)
5O ‘ FVIEW
‘ ‘ Tewﬂwﬂatobox EBHDDG PoTaTed
2740.3 (%) 278403 (x) by 90" or 180‘ according
12 pins resolver connector ower input . . =4 fo the technical manual
(see defail A) 527 -
utput " 450(%) |:
thermal protfection ey
(see defail A) iffing eye boltfs —
i — Q O
/// N © ©
/ I o © ®
‘ ™
- tr—trrr @@ o ST T MM - — - — - — - 55 T -t ®
G ! x M8 (*)
‘ wn ‘q} o on kliaiihil ()
| o © ©®
(@)
i [
2 x M10 useful #%:leuggglg Inlet / Qutlet for coolant r<*“j£9;tgii‘ﬁfl“‘>
according to the technical manual 160

91.5 (%)

135 (%)

threaded hole G1/4

h?

120.5

Flange vibration sensor hole
M6 useful length: 12mm
(Front & Rear)

(x) Dimensions checked for acceptance certificate

flange femperafure sensor hole
M12 x 1.5 useful length: 12mm

(Front & Rear)

Terminal box

Resolver connector

L PTC 150°c thermal sensor
(Black

3. PTC 150°c thermal sensor
(black)

&

ATTENTION
OBSERVE PRECAUTIONS
FOR HANDL ING
ELECTROSTATIC
SENSITIVE
DEVICES

Defail A

box Mb—_

2: - KTY sensor ((white)—]

1. + KTY sensor (brown)— ||

©)

= [ =
©) O

©

(@1

o
@

ﬂ“

Input power cable
threaded hole PGZ29

sensor cable

threaded hole PG

Qutput
thermal

—Screew M8

) for grunding

Drawing valid for

MGV635

Weight : 55 kg

This document is the property of
PARKER.Transmission as well as
reproduction or copy is not permitted
without written authorisation.

General Drawn
tolerances ol
DIN IS0 |28
2768 mK 2

1370372012 PF Visa

AM24091 - 09/04/2013 PF

AM2L040 - 2370172013 PF

AMZ23841 - 11704712 OD

Scale

1:4

8 Avenue du lac. BP30749
21007-D1JON cedex-FRANCE
www.parker.com

MOV 35

Format F E S

A3 X

DUTLINE DRAW ING

34572616000

V

V




JAN
ILllustrated version with ferminal box tfype FZ
X MS on feef
QQSOL\/@F [852 for alignment (x) Dimensions checked for acceptance certificafe
‘ pao Lox B13(%)
Paint . Black RAL 9005 E

N
=
283
Power input & Terminal box can be rotated
(see folio 2) ‘ by 90" or 180 according
3240.3(%) L6 (%) N to the technical manual
12 pins resolver [omeﬁor Outpout -
(see folio 2) Thermal protection LT
(see folio 2) 15 (%)
L
2 Liffing eye bolts
50+
”g . ©)
S e o~
© =5 I -] I — -
S = I~
N S5} | i; X (%)
S o on @150, ()
1 ]0.02|A = 7
A Jo.01}
|
19040.3(x)
Z x M2 useful fLOQPﬂQT%U%STHW Inlet / Qutlet for coolant
g g according fto the technical manual 220
110.5() L7 (%) threaded hole G1/&
I Terminal :
.— T~ L& | LS [ L6 | L7
- . ~ | | Motor LT [LZ2 L3 hox Weight
/ N ; _
/" 2 \ e \ | ' MGVBLOC AR/CAP/CAH |620 225 121 | 77
/: . /_/-’( 543 349 | 165 115 Kg
- O, SEE
! —" B N - -— -——]—-Hf-—— ™ MGV8BLOCAF/CAD 652 1252 [175 | 109 FOLID 2
[ — P | =
e 80 ] i
\ =" MGVB6OCBE/CBD  |727 (252|175 [109 | 618 |426 | 245 135 Kg
\ Flange vibration
, sensor hole
\ \ ,/ M6 useful length: 12mm \ﬂitaﬂge TheTDeraTure
N (Front & Rear) sensor note
N /,/ M12 x 1.5 useful lengfh: 12mm
\~\___/, (Front & Rear)
Drawing valid for MGVBLO / MGVSE60
: Orawn| 22/02/2012 PF Visa - Format F E S G \
W eight General _G'@ MG\/SAO
folerances [ [ [AM24040 - 23/01/2013 PF Scale A3 X
This d tis th ty of =
PAﬁSK%RO.[fpﬂ;emﬂsmi‘§siome aDsPOSET[Lyag o DIN IS0 [2]B |AM23888 - 21/06/2012 PF AMZ4550 - 02/06/2016 PF 1.9 | 8 venue au 1ac. Bo30Tes U U T t ‘ N E D @ A W ‘ N G 3 ZF 5 2 6 3 E 6 O O O E
reproduction or co IS NO ermitre S _ _
without written author isaton. 2768 mk 12 A aM23841 - 11/06/12 0D AM2L091 - 09/04/2013 PF T o g T

V

V



Feedback connector

Input power cable
///Threaded hole PGL2

See defail A

utput

thermal sensor cable
threaded hole PG11

Screw M8 for ground

See detail A/\

N\

~

eedback connector Input power cable
threaded hole PG29
p : : )
—

, u@)

)
|
\S.
2

9,

]
N

\

(]

utput
thermal sensor cable
threaded hole PG

[ Screw M8

for grounding

L w Ly Y 3 x M8
Ly Ly Ly
3 x M8
Motor type Active part Terminal box
RESOLVER CONNECTQR
MGVB4LOCAR/CAP/CAH | HKW155_160C AR/C AP /C AH F1
Output voltage S3 PUTD%T voltage Sk
(cos-) sin-
Oufput voltage ST Elufuu]f voltage S2 MGV840C AF /CAD HKW 155_160C AF /C AD F2
(COS+) Sin+
. nput voltage R2 () MGV860CBE /L BD HKW 155_240C BE /CBD F2
& Input voltage R1 (+)
ATTENTION
OBSEFROVRE HPARNEDCLA‘UNTG\ONS F \/ ‘ EW (S g e fOL ‘ O 1)
ODrawing valid for MGVBLO / MGVB60
: Orawn|22/02/2012 PF Visa —E:] - Format F E S G \
W eight General @ MGVBLO
folerances [ [ [AM26040 - 23/01/2013 PF Scale A3 X
L e M L R oin 1so | 2|8 [aM23888 - 21/06,2012 PF | E [AM2L550 - 02/06/2016 PF
- ITaNSMISsion 35 well 3s = - - 8 Avenue du lac. BP30749
ducti i t itted = .
without weitten sutrorsarion. | 2768 ™K 8 FaTaM23861 - 11/04/12 0D D |AM2L091 - 09/04/2013 PF 12| ol checrnic UUTLINE URAW ING | 34526386000

V

V




JAN

Resolver ; (BSZ
1P4LO
Paint

- White RAL 9010
TOTAL

INERT A

0.0215 kg.m?

x M8 on feet
for alignment

Lox B13(%)

(x) Dimensions checked for acceptance certificafe

N
=7
283
Power input & ‘ Terminal box can be rotated
(see folio 2) ‘ by 90" or 180 according
3240.3(%) L2640 .3(x) R to the technical manual
12 pins resolver [omeﬁor Outpout -
(see folio 2) Thermal protection LT
(see folio 2) 618()
A
2 Liffing eye bolts
301
4 @
© = N B | — —-
S = I~
S o on @150, ()
1 ]0.02|A = 7
A Jo.01}
|
19040.3(*)
Z x M2 useful fLOQPﬂQT%U%STHW Inlet / Qutlet for coolant
g g according fto the technical manual 220
110.5(%) 245(%) threaded hole G1/4
LT T~
/,/ L N ‘ ‘
N - _
‘ z \ e | | -
/ \ B \ ‘ ‘
/l ' /—/— (
, \‘ _/_/’ o= o 77707377 -~ m Motor L1 L? L3 L& [Terminal box|Weight
I 80 )/ - & | = —
e —— 0]
\ & MGV860CBE | 727 | 252 | 175 | 109 | SEE FoLIO 2 | 135 kg
\ ,/ Flange vibration
, / sensor hole \j:
\ , M6 useful length: 12mm lange femperature
* "/ (Front & Rear) sensor hole
N A4 M12 x 1.5 useful lengfh: 12mm
\~\___/, (Front & Rear)
Drawing valid for MGVB60
: Brawn| 28/09/2015 PF Visa —E:] - Format F E S \
W eight General @ MGVB60
tolerances |[u Scale A3 X
;RESKEURO[TUWEHT is the DFODE[EV of DIN IS0 %
.Iransmission as we as i
oy oy = ot pemited | 3768 1k |3 12 |2 | UUTLINE URAW ING | 34526386004
without written authorisation. 2 www .parker.com

V

V




Input power cable
Feedback connector /Threa[je[} hole PG42

utput
thermal sensor cable
threaded hole PG11

See defail A

Screw M8 for ground

—W =V —U
3 x M8
RESOLVER CONNECTOR

Qutput voltage S3 UUVTDUT volfage S&

(cos-) (sin-)

Output voltage S1 (OU,TDU)T voltage 52

(cos+) st
& Input voltage R2 (-)
ATTENTION Input voltage R1 (+)
ELSE%E(EZ?C F VIEW (see folio 1)

Drawing valid for . MGV860

: Orawn| 28/09/2015 PF Visa —6—@- Format F E S G \
, General j
el ghT ' folerances scate m M \/ 8 6 O B -

Modifications

gm0 12 | e | OUTLINE DRAW ING | 345263E6004

PARKER.Transmission as well 3s DIN ISO
reproduction or copy is not permitted 2768 mK
without written authorisation. www.parker.com

vV vV




L x M10 on feet ®
for alignment (*) Dimensions checked for acceptance certfificate
Resolver : (B10Z ° e e
‘ DQO x D17 (%)
Paint : Black RAL 9005 ki ]
- p -
S = S S R |
e | —-—
S = et R
Y A“,
able inlet
(oo folio 2) 3940.3 (%) le L14+0.3 (%) -
B 106 Liffing eye bolts Terminal box
12 pins resolver connector ‘—T—ﬂ (see folio 2)
(see folio 2) 5
] ® 3 O
L
4
110+£1 &‘ I
= . ] o °
S o ™M
Zl = ) ] ® =
3 = & e e I _
~ *
Q) = >
~ oco
S | 10.02 (A H‘f 17 2
|7 0.015 - -
\ L3 ()
2 x M12 useful length: QOmm | 128.5(%) L2 (%)
for grounding
Flange temperature sensor hole— . — 465
M12 x 1.5 useful lenght: 12mm
(Front & Rear) -
S = L
- ‘\~ —/— ! \ -
/,/ b . o +, — 1
. A \_/—/ ol Motor L1 L2 L3 Lt | Terminal box | Weight
/ 0 r .
' \ N ®
/ ) o MGV930 397 182 725 2677 210 kg
l‘ ) %OUHET for coolant MGV950 570 302 898 LLO see folio 2 270 KQ
according fo the
\ / technical manual
‘\ /' threaded hole (G1/2 e o ® MGV9IT0 663 L7227 991 533 300 kg
\\ /' lange vibrafion sensor hole
g -’ M6 useful lenght: 12mm
TY——" (Front & Rear)

Drawing valid for . MGV9I50 / MGVST/O

: , G . [prawn| 20712/ AH |Visa —3-@- Format
W - ghT ' TOLZ:S;EGS C [AM23821 - 12/03/2012 PF F [AM24091 - 09/0L/2013 PF Scale m M G \/ 9 O O AB X
This document is the property of
B [AM23806 - 20,/02/2012 PF E [AM23885 - 19/06/2012 PF 13:100 %OAOV%”D“ESN“ ﬁiéeﬁﬁé%ﬁ U U T t ‘ N E D @ A W ‘ N G 3 Z‘, 5 2 6 5 E 6 O O O

PARKER.Transmission as well as DIN ISO
G [AM24295 - 20/05/2014 PF D |AM23841 - 12/04/2012 0D www.parker.com

Modifications

without written authorisation.

reproduction or copy is not permitted 2768 mK



JAN JAN
©
W > y
W Ky
RESOLVER CONNECTOR = = J : phase U
vV Voo
Outpuf voltage S3 (Uumu]f voltage St @ " v . phase V
(cos-) sin- T —
= .
Output voltage S1 Output voltage S2 ge) W © - ! o W E]TWE}ESQ \A/
(Cos+) (sin+) ) L
Input voltage R2 (-) . . . . Defail A
Input voltage R1 (+) == ] ] |
T | & O©@ 1. + KTY sensor (brown)
, | o ™ B~ G O @2 : - KTY sensor (white
F View See detail A\_l O)x| © \; T V g O @3 : PTC 150°C thermal sensor (black)
@M ~ o M@ O ©f{—+ . PTC 150°C thermal sensor (black)
© / \ © J [OJCx 5 : vacant
\ ©
J (eyCy . vacant
~ Ground for M10
-Terminal box for current between 560 to 630 A, the maxi cable cross section is 2x120 mm?
© ©
| N— -
LW - U T
a
Motor type Active part Terminal box = — l._ = = U . DWSSG U
Ty - v VvV : phase V
MGVI30CAC | HKW 195_180CAC @  —— - W flaESE? VV
D 1 1 1 D .
0 © © o ' D
MGV9I30CAJ HKW 195_180CAJ W - u <
F1 ,
MGY9S0CAC | HKW 195_300C AC P © © Jerelt A
1
> . — o @ 1. +« KTY sensor (brown)
MGV9SOCBU | HKW 195_300CBU | * a \) o©o 2 - KTY sensor (white)
See defail A 0o > ' s
\‘{ 00 I @ O ® 3 . PTC 150 °C thermal sensor (black)
MGVI50CAX | HKW 195_300C AX F’))ﬁ F\%( O @<« : PTC 150°C thermal sensor (black)
F? ) Q) ’9\ (@) R O©©— 5 . vacant
/
MGVITOCBX | HKW 195_42720CBX < 7 O @ . vacant

-Terminal box for current < 320 A, the cable cross section
-Terminal box to current befween 320 to 560 A, tje cable cross section is betwenn 150 to 300 mm?

@Groum for M10

IS between 95 to 185 mm?

Drawing valid for

W eight

This document is the property of
PARKER.Transmission 3s well as
reproduction or copy is not permitted
without wriften authorisation.

General
folerances

OIN IS0
2768 mK

Drawn| 2012711 | AH  |Vvisa —3-@-
2| [AM23821 - 12/03/2012 PF AM24091 - 09/04/2013 PF Scale
|8 [amM23806 - 20,02/2012 PF AM23885 - 19/06/2012 PF

= 13:100

G |AM24295 - 20/05/2014 PF

AM23841 - 12/04/2012 0D

8 Avenue du lac. BP30749
21007-D1JON cedex-FRANCE

MGYVSO0

Formaf F E S G \

A3 X

JUTLINE DRAW ING

34576586000 (6

V

www.parker.com




XLife bearings. Max speed 18000rpm

Maximum radial load permiffed

Sensor
Active part

P40

ERMZ220 -

600

Paint : Grey RAL 7035

46345

500N

Lines
HKW 195 _180C ACRT000

able inlef

48

10 on each skids
for levelling

Liffing eye bolfs

’ W E 6 ® e
& — ] 6 x @M12 on [190 |
e ) ® ®
—5— o e — B -
Cable inletf o | o 2
+ Yy E
v Ea .l - |
% E
12 pins resolver connector
2 x M12 3 655 254+0.3
Braid junction fo ground _128.5 187 590
FEEDBACK CONNECTOR A
5 FI 300 ~
® ] ——— TERMINAL POWER BOX
, _ ) - ﬁ‘a —— | Connector : 95-185 mm?
Foview Flange temperature sensor s = q o o | 5 F
hole M12x12 (front & rear) _qP_ o o o . — i U : phase U
K += V. phase V
Flange vibration sensor \ . ° - v - i v E VLPQ??;@HW (brown)
Incremental signals TTL hole M6 x12 (front & rear) ° ° ol 2 L 2. - KTY sensor (whife)
W © 3 PTC 150°C thermical (black)
: Other , A S %L PTE B0°C ihermical sensor (black
Power supply Incremental signals signals Input/Output cooling 5 : Vacant
additivated wafer 6 : Vacant
20 2 10| 1M | 5|68 1|3 |4t ]T]| 9 6172 . fate §32 o . o @ Groung for M0
Up |S8NSOM | gy [SEMSOT 1wy [ aqn | A2 [A2\ | A0 |AON [ASN [vacant
Plan valable pour - MGVI30CACKB3IXRE00T
Masse : 210 kg Goneral  [Pessine|  19.12/11 AH | vise —3-@- F%[jV/QZﬂO Format | F | E |S |G
tolerances w Echelle A3 X
Ce document, propriete exclusive de -
PARVEX, ne peut efre communique. copie DIN IS0 S| B |AM 23774 17/01/12 AH 8 Avenue du lac. BP30749
duit totalement tiellement = : :
o reprodt tolatenent v gartelienentl 2768 K | [ 23760 10012 AT 13:100 O07D1ON cetocFRANCE ENCOMBREMEN T 345765860017 |B

V

V




L x M10 on feet ®
for Liffing

Resolver : (B107Z o o . o
P40
Paint . Black RAL 9005

|
j

25440.3
Mi@é%ﬁ%
O
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

[
|
|
|
|
>

able inlet
(see folio 2) 39203 | 1o L1£0.3

Lifting eye bolts Terminal power Box
(see folio 2)

2 e
O
©
\& "
=
©
L3
< 128.5 L2
k. 1 ral 465
2 x M12 /1
Braid jonction fo ground ‘(2
0 =
12 pins resolver connector #77 1 I'A) T Terminal ,
(see folio 2) ol Motor L1 L2 L3 L& nower Dox Weight
W :
Flange temperature \ R = MGV930 397 182 725 26'1 see folio 2 210 kg

sensor hole ® ®
M12 x 1.5 useful lenght: 12mm
(Front & Rear) Input / Output cool

ing
additivated watfer
threaded hole G1/2

lange vibrator ]
sensor hole

M6 useful lenght: 12mm

(Front & Rear)

Plan valable pour . -

' General Dessine| 15/02/2012 PF Vise —G—@- Format F E S G \
Masse tolerances Fchelle m M G \/ 9 O O A3 X

13:100 | &dyerse gy tec, se3ones ENCOMBREMENT 3L57265E6007

PARVEX. ne peut efre communigue. copie DIN IS0
www.parker.com

ou reproduit totalement ou partiellement 2768 mK
sans son autforisation ecrite.

Modifications

vV vV



© ©
1 Outpout voltage S3 (cos-) ©
| N— -
2 Outpout voltage S1 (cos+)
— W - - U E
. = — = U . phase U
5 v ]~ v v . phase V
: = S w : phase W
o (@) o U
7 |Outpout voltage S2 (sin+) W 1 1= u
8 Outpout voltage S& (sin-) © 0
9 L—
WO ‘HDUT \/OHBQE R1 f o) @ L -\) O©@ 1. + KTY sensor (DFOYVH)
See detail A a a [N (oyC; 2 - KTY sensor (white)
oo o .
11 \*{ o9 oO® 3. PTC 150°C thermical sensor (black)
12 Input volftage R2 @8‘; @ O @ 4 - PTC 150°C thermical sensor (black)
?) @M ~ ’Q\ (@) © O©@— 5 : vacant
S— o 7 O @&+ . vacant
FEEOBACK CONNECTOR
@Gmumd for M10
-Terminal box for current < 320 A, the maxi cable cross section is between 95 to 300 mm?
-Terminal box for current befween 320 to 560 A, the maxi cable cross section is between 150 to 300 mm?
Mofor fype Active part Terminal
yp P power Box
MGVI30CAC | HKW 195_180CACR1000 F1
Plan valable pour -
15/02/2012 PF Vi - Format F E S
Masse General > —3@ MG\/QOO
tolerances w Echelle A3 X
E’iR[\]/OE%(wem' DPTODPT\'eTe exclusive de DIN IS0 %
. Ne peur efre communique, cople E )
ou reproduit totalement ou partiellement| 2768 mK |3 13:100 | 20675T .00 cogeccroance ENCOMBREMEN T 34526586007
. 2 www.parker.com

V

V




JAN JAN

Resolver : (B107
\PAO , i (x) Dimensions checked for acceptance certificate
Paint :White RAL 9010 u’ : ‘“
Tofal rofor inerfig :<=0.072 kgm? L x M10 on feet Lox @7 () e e e
Rall bearings : XCS for st N\ w65 |
Fstimated Llifefime : 4000h = i &f
at max speed 5000 rpm & N | F
acyclism 250z, amplifude x£0.12°. o < o 1l N ———
No axial nor radial strengfh. A ,L, ||

able mer = A A

(see folio 2) ﬂ#_

3940.3 () ; 66340.3 (¥) 4
533 le 306 Terminal box

17 pins resolver connector

A

Lifting eyes DOHS\

(see folio 2) (see folio 2)
G
-
_ Ejﬁ
° o5
A :
6s' |, | N161 /],
\Z 991 (%) 290
72 x M12 usefut length 20mm
for grounding 128.5 (x 427 (%)
Flange femperature sensor hole —n L65
M12 x 1.5 useful length: 1Z2mm
(front & rear)
. O]
/—/““\ _/‘/ 777777777 7%7777 o
. L—
/’ ¢ \~ /'/
, L \-—" ® ° ®
/ 0 r . S s S
/ \‘ Flange vibration sensor hole %/Ouﬂef for
i M6 useful Length 12mm coolant according
| (front & rear) to the technical
\ h manual . , ‘
\ / Threaded hole G1/2 ® a e Motor Terminal box | Weight
\. / MGV966 | see folio 2 | 300 kg
.. I
~._ .-
Drawing valid for MGVISEDHRABIXR600L and MGVISO6DAXABIXRE004
W eight General  [Prawn| 11/01/16 AH |Visa —3-@- M G \/ 9 6 6 Format TE TE 1< 1o 11
tolerances |w Scale A3 X
EZESKESR(%;E%?WESfo”me 55“°£§[Eya§fﬁ | omoso | 13:100 | 2dgmmeer s | 1T INF DRAW ING 3LE265F 6004
whout weitten autmorisation 2768 K 5 T TamM24492 13/01/16 AH | 00T v poken tom

V

V




JAN JAN
RESOLVER CONNECTOR
Output voltage S3 Output voltage St
(cos-) (sin-)
Output voltage S1 Output voltage S2
(cos+) (sin+)
Input voltage R2 (-)
Input voltage R1 (+)
- View
) ©
m@
| N— -
L U - U >
aF]
= 1 = U : phase U
v - I v VvV : phase V
, , Current = e ——] : = :
Mofor type Active part Terminal box A rms % o © o W DhaSG W
W - - W
MGV966DHR | HKW 195_400DHR F1 384 —— —
© © Defail A
A
MGVI6E6DAX | HKW 195_400DAX F1 505 A\, C .
— ., a .\) O©O 1 : + KTY sensor (brown)
See detail A e [ (ON(C/ 2 . - KTY sensor (white)
\‘{ oo I @ (O JKC; 3 . PTC 150°C thermal sensor (black)
F,))gog r\%( O @Ot : PTC 150°C thermal sensor (black)
) @) T ’9\ (@) ® O©©— 5 . vacant
~ 2 J O @ . vacant

-Terminal box for current < 320 A, the cable ctross section
-Terminal box fo current between 320 fo 560 A, the cable cross section

@Groum for M10

IS between 95 to 185 mm?
is betwenn 150 fo 300 mm?

Urawing valid for MGVIEODHRABIXR6004 and MGVIEODAXABIXRO00L

Weight - General  PPrawn| 1101716 | AH|Visa —1-@-
J ' folerances [ Scale

;XESKEURO[TUWEHT is _The DFODE[[Y of DIN 150 E

e st | 2768 nk |3 [T Twaeas: B0t an 13:100

MOVI 66

Formaf F E S G \

A3 X

8 Avenue du lac. BP30749
21007-D1JON cedex-FRANCE
www.parker.com

JUTLINE DRAW ING

34576586004

V

V




Resolver : (R107
IPLO

Paint

Black RAL 9005

able inlef
(see folio 2)

L x M10 on feetf
for alignment

/l» x @17 (x)

*4
+ ¥ B

17 pins resolver connector
(see folio 2)

- i
"
ge [ B I
H
& (@)
S S 4273
s 0
Yy
#é “'T
5140.3 (%) L140.3 (%) -
A 306
e e
L
[©0.02 2
140+ /@: ]
/) e e e
0| (-] (-] -]
. i

0
1806 -0.025)
01
002

[
|

L J
486

Terminal box
(see folio 2)

5 | i 2 ex%m (%)
S ’—'—‘—’__ i I o on (%)
0.02 [A F=N =
|7 0.015 L N\ = > )
13 (%) 312
2 x M2 useful length: 20mm Flange temperature sensor hole 159 () L2 (%) 481
for grounding M12 x1.5 useful length:12mm
(Front & Rear) |
|
N |
_/'/—I 0 3 |
/—/ —
\/ /’/—/_ A} 4
TNl S [ 1 Motor 11 | L2 | L3 | L& |Terminal box | Weight
MGVAS0 650 | 372 [1035 | 552 | see folio 2 | 395 kg
\
\4/ Outlet for coolant
according fo fthe
, ‘ technical manual
lange vibration sensor hole
M6 gugem length: 12mm fhreaded hole G1/2 ® ® (») Dimensions checked for acceptance certificate
(Front & Rear)
Drawing valid for MGVASO
: ODrawn| 09/01/2012 PF Visa —E:] - Format F E S G \
W eight General @ MGV A
folerances |« | ¢ |AM23841 - 12/04/12 0D Stale A3 X
This document is the property of =
PARKER.Transmission as well as DIN IS0 S| B |AM23821 - 1270372012 PF 8 Avenue du lac. BP30749
ducti is not itted = , .
winout wrtten authorisation. 2768 K2 A [aM23806 - 20/02/2012 PF | D [AM24091 - 09/04/2013 PF 15 ZI007-D N cedex-FRANCE QUTLINE DRAW ING 34526 7£6000

V

V




1 ©
W
RESOLVER CONNECTOR @ = U : phase U
= e
OUTDUT \/OHBQ@ S3 (UUTDU)T VOHBQE Sk o \/ g \/ . Dhage \/
(cos-) sin- — = W . phase W
Output voltage S7 OU,TDUT volfage 52 % B ’
(cos+) (sin+) W

Input voltage R2 (-)
Input voltage R1T (+) - =

F VIEW See detfail A / A<y [T
AW 5 I}/VI

Defail A

1
1

+ KTY sensor (brown)

1
2 . - KTY sensor (white)

3 . PTC 150°C thermal sensor (black)
1,

5

O

O@O

. PTC 150°C thermal sensor (black)
- free

. free

oo
5)
7
) U
HG)

©

000
oPp000

(0)

-Terminal box for current between 560 to 630 A, the maxi cable cross section is 2x120 mm?

© ©)
m@)
Mofor type | Acfive part |[Terminal box ; — — . U : phase U
MGVASODAC  |HKW 242_375DAC = . — = = V.. phase V
a oy i v W : phase W
MGVASODAB |HKW 242_375DAB < <@
M I I I 1 M
M 1 1 1 T o
MGVASODAA |HKW 242_375DAA — W - © W -
FQ 1 1 1 1 .
MGVASODBB | HKW 242375088 o ) ) cefail A
- h ®) 1. + KTY sensor (brown)
See defail A // 5o >‘@_ ° ° ) O© 2 . - KTY sensor (white)
\/ /r((a a \S O O 3 . PTC 150°C thermal sensor (black)
l 23 \ O © 4 . PTC 150°C thermal sensor (black)
\ @090 050+ 5 : free
\ °0 ©
@ o[ a2 =~ ]o @ s . free
/

©
@ @10 for grunding

-Terminal box for current < 320 A, the maxi cable cross section is between 95 fo 185 mm?
-Terminal box for current between 320 fo 560 A, the maxi cable cross section is beftween 150 to 300 mm?

Orawing valid for . -

()
-
(28]
=
a0

W@@ﬁﬁ : General

folerances

09/01/2012 | PF  |Visa —3-@- MG\/A Format | F | E | S |G ||
C [AM23841 - 12/04/12 0D Scale m A3 X

This document is the property of

PARKER.Transmission as well as DIN ISO
reproduction or copy is not permitted 2768 mK
without written authorisation.

AM23821 - 12/03/2012 PF

A |AM23806 - 20,02/2012 PF D [AM24091 - 09/04/2013 PF 15| 20078l cfer-France O U T t ‘ N E D @ A W ‘ N G 3 ZF 5 2 6 7 E 6 O O O

Modifications
o W)

www.parker.com
V V



Resolver : (B10? e
P40 ‘
P3int -White RAL 9010 R

36040.3
|
I
|
|
|
I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
\
—
|
68

{able inlef
(see folio 2)
.

4L0+0.3 (%)

L140.3 (%)

12 pins resolver connector
(see folio 2)

it bolt Terminal box
ITTing eye Dolfs (see folio 2)
30

2 x M12 useful length 20 M

for grounding

COUPE B*B

A 178 (%) L2 (%) ECHELLE 110
SEE DETAIL F I3 | —flange femperature sensor hole
\ : M12x1.5 useful length 12

drilled near the ball bearing
Front and rear

COUPE A*A

DETAIL A
ECHELLE 3:10

|

\

140

@250 hé

——Flange vibration sensor hole
M6 useful length 12mm
Fronf and rear

M20

Motor L7 L? L3 L4 | Terminal box | Weight

MGVB30O | 578 | 272 | 947 | 454 | see folio 2 | 570 kg

] 1/ - 7
Inlet/Outlet for

LO mini coolant according fto the ]

technical manual
Threaded hole G1/2'

(x) Dimensions checked for acceptance certfificate

Drawing valid for : MGVB30

Weight General  [Prawn| 05710715 A Viss —1-@- M 6 \/ B Format | F | E | S |G ||
' tolerances calo A3 -

reproduction or copy is not permitted 2768 mK
without wriffen authorisation.

Modifications

B e ot o 15 et dwtne | UUTLINE DRAW ING | 34534486007

PARKER.Transmission as well 3s DIN ISO
www.parker.com

vV vV



/\
- ©
W
RESOLVER CONNECTOR @ = U : phase U
= e
OUTDUT \/OHBQ@ S3 (UUTDU)T VOHBQE Sk o \/ g \/ . Dhage \/
(cos-) sin- —= = W ph W
o o : Phase
Output voltage S1 Oufput volfage 52 o )
(cos+) (sin+) W
Input voltage R2 (-) Detail A
Input volfage R1 (+) L — — <
og0] | - - | g©§ 1. + KTY sensor (brown)
FVIEW See defail A / ool NS I 1 O 2 : - KTY sensor (white)
W o) '_,&”V,_l J L ' O ©- 3. PTC 150°C thermal sensor (black)
! °o° o o 0
oo 4 - PTC 150°C thermal sensor (black)
| ] @& M ~ o @ OO 5 . free
\ © ’ ‘\ © O©@ :
\ / 6 . free
AN //
-_ -~ or grunding
> @10 f d
-Terminal box for current between 560 to 630 A, the maxi cable cross section is 2x120 mm?
(©) ©)
Motor f Acti t | 1o (Arms) [ Terminal b ©
ofor type cfive par o (Arms erminal box ! = — ! U . phase U
MGVB30OHAC | HKW 310-300HAC 290 @ @ V . phase V
F1 = . ————— [= '
=y n . v W : phase W
@ ¢ Q
E . I 1l E
M 1 1 1 o
F2 - W = o W
S— Defail A
|- - © ©
(o) 1. + KTY sensor (brown)
See defail A // 5o >‘@_ ° ° ) O© 2 . - KTY sensor (white)
\/ /r((a a ﬁ O © 3 . PTC 150 °C thermal sensor (black)
I gg ; O O+ L . PTC 150°C thermal sensor (black)
\ @ooo O@©— 5 . free
\ °0° A . ). A O © . free
N ) ol & A le (B :
1 @ - ©
@ @10 for grunding
-Terminal box for current < 320 A, the maxi cable cross section is between 95 fo 185 mm?
-Terminal box for current between 320 fo 560 A, the maxi cable cross section is beftween 150 to 300 mm?
Drawing valid for MGVEB 30
: Drawn| 05/10/15 AH Visa - Format F E S G \
W @@hT General _G_@ MG\/B
tolerances [ Scale A3 X
;EESKEURO[TUWEHT is the Droueﬁy of DIN 150 %
.IP3aNSMISSIoN 4s we as R
oo o opy & not semites | 2768 mK | 15 |esia et | UUTLINE DRAW ING | 34534456007
without written authorisation. 2 www.parker.com

V

V




	344751E1005
	345259e6000
	345261e6000
	345263e6000
	345263e6004
	345265e6000
	345265E6001
	345265e6002
	345265E6004
	345267e6000
	345344E6001

